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GUARDS ASSIGNED ADMINISTRATIYE SHUTTLES (i"'
1DEHT AT PYINTS J WOTES SHIP DATA TABLE WYN TOURNAMENT >
TYPE = T-AxBC A
BREAKDOWN = 36 AUXILIARY BATTLE UISE L
SHIELD COST = 1+1 m
LIFE SUPPORT = 1 HTR m
THIS SHIP HAS ONE SHUTTLE EAY. SIZE CLASS - 3 SENSOR SHIELD #1 —
BOARDING PARTIES © w
TTT 111 THIS SHIP CAM ACCELERATE BY MO MORE 5 >
THAN FI¥E MOVEMENT FOINTS OR DOUELE  [3]  sHiELD #6 SHIELD #32 :||

THE CURRENT SPEED ¢ MAXIMUM —

REWISED 25 JUNE 2003, ACCELERATION TEN) PER TURN. el o
TYPE | OFFENSIYE PHASER TABLE OPT-Fa 0
DIE RAMGE 6- 9- 16- 26— 51-| |HIT & PUN TURN MODE SPEED EBRDG =] EMER

SCANNER —
ROLLO 1 2 3 4 5 815 25 50 75| | ‘ocare | [D " 24 b (11 [ (11
1 9 8 7 68 5 5 4 3 2 1 1 =1
|:| ND 2 5-d 0 HULL PH-3 HULL|HULL PH-3 HULL
2 8 7 6B 5 5 4 3 2 1 1 O 0| ULL|HUL
HET 3 g-12 = i C C

3 7 5 5 4 4 4 3 1 0 0 O gonus | 2 13-17 E1 A g1 ]

4 6 4 4 4 4 3 2 0 0 0 0 9] [ | zeo® [ ][] 0 [ ]

5 5 4 4 4 3 3 1 0 0 0 0 BD 5 18-24 TRAN TRAC LAE | LAB TRAC TRAN

6 4 4 3 3 2 2 0 0 0 0 O ] 6 25+ d

OPTIONAL WEAPONS DAM CON al% PH-1 BATTERY FPH-1 AUX
[4]  swiELD =5 O [E =] SHIELD #3
TYPE 111 DEFENSE PHASER A ?Eﬁgﬁ:mm’ 4] ssook] L I EElsece
DIE RAHGE 4- 9- B JUDGES 2] A4PR CAREO
ROLL O 1 2 3 8 15 C =

4 4 4 3 1 1 D H

2 4 4 4 2 1 0 MaRIMUM OF OME PH-G, T'w0 PL-D. 0

I 4 4 4 1 0 0 MO HELLEORES IN MOUNTS C OR D — L aRE SHUTTLE RWWARE

4 4 4 3 0 0 0 PHOTONS OR FUSIONS IN C/D HAYE 120° L+LF / RF+R 4RCS. L1i11] s

5 4 3 2 0 0 0 TW 0 OF THE FOUR OPTIONAL WEAPONS MUST BE & PH-1, B DAM IMPULSE =

& 3 3 1 0 0 0 DISRUPTOR, TYPE-B DRONE RACK, ADD-12, OR &N ESG. [ prd

AN ESG WOULD ALS0 TAKE UP & SECOND ADJACENT BOX.) FH-3 >

DRONE RACKS Mo Reloads) x X
1 = LF A RF FA = LF + RF = W
= + = O

2 B LS=LF+L+LR SHIELD 4 i
i : L R RS=RF+R+RR o)
At B R{=L+LR+RR+R cC

OPTIONAL WEAPON Py

& B PLATER HIT & RUN TABLE H&R vs GUARDS pa

B B 1 |SYSTEM DESTROYED; BP RETURNS 1-3| BP DESTROYED >

C B TOURN Z |SYSTEM & BP DESTROYED 4-5| BP RETURNS %

D B 0D 3-5|SYSTEM UNDAMAGED; BP DESTROYED & | CONDUCT H&R =

& |STSTEM UNDAMAGED; BP RETURNS =
>

WARP ENERGY MOYEMENT COST = 2/3 ENERGY POINT PER HEX [5] = HET COST E

SPEED 1 2 3 4 [5] & 7 &8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 =

Standard1 2 2 3 4 4 S5 &5 & 7 & &8 9 10 10 11 12 12 13 14 14 15 16 16 17 18 18 19 20 20 >

Fract. 25 1% 2 2% 3% 4 4% sl 6 6% 7l 5 8% 9l 10 108501l 12 1235130 14 14% 158 16 168517 15 18551915 20 3




